Extended Prelude to Programming

Chapter 9


Test Bank for Prelude to Programming


Chapter 9
Note: Each question is marked with the corresponding Section Number so the instructor can select questions that match only the sections covered in this chapter.

MULTIPLE CHOICE
1.
Sec. 9.1   Which of the following values are possible for X, given the following statement:





Set X + Random(3) + 7

	a.
	0, 1, 2, 3

	b.
	1, 2, 3, 4, 5, 6, 7

	c.
	8,9, 10

	d.
	10, 11, 13


ANS:
C


2.
Sec. 9.1     Which of the following values are possible for X, given the following statement and that Y = 2:
Set X + Random(Y * 3) - 4
	a.
	1, 2, 3, 4, 5, 6

	b.
	2, 3, 4, 5, 6, 7

	c.
	0, 1, 2, 3, 4, 5, 6

	d.
	-3, -2, -1, 0, 1, 2


ANS:
D


3.
Sec. 9.1     The Random(X) function is generated by a mathematical __________:
	a.
	see

	b.
	algorithm

	c.
	function

	d.
	rule


ANS:
B




4.
Sec. 9.1     To write a program that simulates rolling a single die (i.e., to generate the numbers 1 through 6), you would use which of the following statements?
	a.
	Set X = Random(6)

	b.
	Set X = Random(5) 

	c.
	Set X = Random(1) + 6

	d.
	Set X = Random(2) + 6


ANS:
A



5. Sec. 9.2     Which of the following is true?
	a.
	“a” <> “A”

	b.
	“2&3 = 9” <= “2&3 = 9”

	c.
	“Hello” <> “Goodbye”

	d.
	all of the above are true


ANS:
D


6.
Sec. 9.2     Which of the following is true? 
	a.
	“23” = “ 6”

	b.
	“Joe” <> “Joe”

	c.
	“Hermione” < “Hermione3”

	d.
	all of the above are true


ANS:
C


7.
Sec. 9.2     The following program segment prompts the user to enter a number which is input and stored as a string. Then the program segment checks to see if the input string is a real number. Which line should replace the XXXX’s on Line 7 to validate the input?




1. Declare UserEntry As String





2. Declare Check As Integer





3. Declare RealNum As Real





4. Repeat





5.
Write “Enter any number: “





6. 
Input UserEntry





7.
XXXXXXXXXXXXXXX





8. Until Check <> 0

	a.
	Set RealNum = Str(UserEntry)

	b.
	Set RealNum = Val(UserEntry, Check)

	c.
	Set RealNum = Val(Check, UserEntry)

	d.
	Set Val(UserEntry, RealNum) + Check


ANS:
B


8.
Sec. 9.2     Which of the following is not true?

	a.
	If string S1 follows string S2 in ASCII code, then S1 < S2 

	b.
	If string S1 precedes string S2 in ASCII code, then S1 > S2

	c.
	If the first 5 characters of string S1 are the same as the first 5 five characters of string S2, but S1 contains a black space as the 6th character, where S2 ends after 5 characters, then S1 < S2.

	d.
	none of the above are true


ANS:
D




9.
Sec. 9.3     What is the function of a flag in the pseudocode for a binary search? 
	a.
	it indicates when all the items in an array have been searched

	b.
	it acts as a counter

	c.
	it indicates that the item you are searching for has been found

	d.
	it is set to 0 to end the program


ANS:
C


10.
 Sec. 9.3     A binary search begins by:
	a.
	comparing the search item to all the items in the list or array, on the first pass

	b.
	comparing the search item to half the items in the list or array on the first pass

	c.
	comparing the search item to the first item in the list or array on the first pass

	d.
	creating an index file


ANS:
B


11.
Sec. 9.3     Which of the following is not one of the steps involved to carry out a selection sort which will sort an array in ascending order?
	a.
	on the first pass, the smallest element is located

	b.
	on the first pass, the smallest element is swapped with the first element in the array

	c.
	on the first pass, the smallest element is swapped with the last element in the array

	d.
	on the second pass, the second-smallest element is located


ANS:
C


12.
Sec. 9.3     Which is the correct way to swap the value of elements K and J in an array named Price?
	a.
	Set Temp = Price[K]

Set Price[K] = Price[J]

Set Price[J] = Temp
	b.
	Set Temp = Price[K]

Set Price[J] = Temp
Set Price[K] = Price[J]

	c.
	Set Price[K] = Temp

Set Price[J] = Price[K]

Set Temp = Price[J]
	d.
	Set Price[K] = Temp

Set Temp = Price[J]

Set Price[J] = Price[K]


ANS:
A


13.
Sec. 9.4     Which of the following is a representation of a direct-access file that contains three records. Each record has an ID Code which is 2 bytes long and a Name that is 6 bytes long. 
	a.
	67kitten●54dog●●●●89tortoise

	b.
	67kitten54dog●●●89tortoi

	c.
	67,kitten<CR>54,dog<CR>89,tortoise<CR><EOF>

	d.
	67”kitten”54”dog” ●●●89”tortoi”


ANS:
B


14.  Sec. 9.5     If each record in a direct-access file consists of 48 bytes, how many records are there in the file, given that the LOF function returns a value of 2400?
	a.
	100
	b.
	50

	c.
	48
	d.
	24


ANS:
C


15.  Sec. 9.5     An indexed file associates a key item in a direct-access file with a record number to make it easier to locate records in the direct-access file. This is because:

	a.
	the position of a key item in the sequential (indexed) file gives its record number in the direct-access file

	b.
	an indexed file is easier to create than a direct-access file

	c.
	an indexed file can be used on any computer while special software is needed to open a direct-access file

	d.
	all of the above are reasons why indexed files make it easier to locate records in direct-access files


ANS:
A


TRUE/FALSE
1.
Sec. 9.1     True/False:  Numbers whose values form an unpredictable sequence are random numbers.

ANS:  T

2.
Sec. 9.1     True/False:  The expression, as explained in the text: Random(4) – 1 will generate any of the following numbers:  -1, 0, 1, 2, 3.

ANS:
F

3.
Sec. 9.1     True/False:  If the seed of an algorithm used to generate pseudorandom numbers does not ever change, the same sequence of numbers will be produced each time the program is executed. 

ANS:  T

4.
Sec. 9.1     True/False:  The value of Prize, after the following statement is executed, could be 12: Set Prize = Random(8) + 6.

ANS:  T
5.
Sec. 9.2     True/False:  Both the integer 42 and the string “42” are stored with the same ASCII representation in the computer’s memory. 

ANS:  F
6.
Sec. 9.2     True/False:  Given that Teacher1 = “Mr. Chips” and Teacher2 = “Mr. Chip”, then the following statement is true: Teacher1 < Teacher2. 

ANS:  F
7.  Sec. 9.2     True/False:  To determine which of two unequal strings comes first, if one string ends before any pair of corresponding characters differ, the longer string precedes the shorter one.

ANS:  F
8.
Sec. 9.3     True/False:  A binary search looks for a desired item by comparing the search item to each data item in order, from first to last, until a match is found. 

ANS:  F
9.
Sec. 9.3     True/False:  The binary search requires that the array of data to be searched is in numerical or alphabetical order.

ANS:  T

10.
 Sec. 9.3     True/False:  With the selection sort, to sort from smallest to largest, on the first pass, the smallest element is located and swapped with the first array element.

ANS:  T
11. Sec. 9.4     True/False:  In a direct-access file, corresponding fields in all records must have the same length.


ANS:  T
12.
 Sec. 9.4     True/False:  In the pseudocode used in this text, the statements that follow create a data type called Movies which allocates 6 bytes for the name of each movie.





Record Type Movies





Name As String[6]





End Record


ANS:  T
13.  Sec. 9.4     True/False:  Once created, a direct-access file can be read from but not modified.  

ANS:  F
14.  Sec. 9.5     True/False:  The LOF function is often used to determine the number of records in a direct-access file.  

ANS:  T
15.
 Sec. 9.5     True/False:  To delete a record from a direct-access file, we overwrite the contents of that record with null strings and/or zeros.

ANS:  T
SHORT ANSWER
1.
Sec. 9.1     The random function, Random(N), generates an integer from 1 to N where any of the values are __________ likely to occur.

ANS:  equally 
2.
Sec. 9.1     A mathematical algorithm used by a computer program to generate random numbers requires a starting value called a(n) __________. 

ANS:  seed
3. Sec. 9.1     Numbers generated by a mathematical algorithm may not be truly unpredictable but they are all equally likely to occur. These numbers are called __________. 


ANS:  pseudorandom
4. Sec. 9.2     Any symbol that is recognized as valid by the programming language being used is a(n) __________.
ANS:
character
5.
Sec. 9.2     The standard scheme used to associate each character with a number (or binary bit pattern) is __________.

ANS:  ASCII (or American Standard Code for Information Interchange)
6.
Sec. 9.2     To compare the two following strings to decide which comes first, you would compare the ASCII values of which characters? 




String1 = “backpack”




String2 = “backwards” r


_____ and _____

ANS:  p, w
7.
Sec. 9.2     An integer is stored in memory by its __________ equivalent.

ANS:  binary
8.
Sec. 9.3     A(n) __________ __________ requires that the table keys (the array of data to be searched) is in alphabetical or numerical order.


ANS:  binary search
9.
Sec. 9.3     If an array contains N elements, using the selection sort, it will be sorted after, at most, __________ passes.

ANS:  N - 1
10.
Sec. 9.3     The __________ search method is a good way to search a large amount of data for a search key.

ANS:  binary

11.  Sec. 9.4     A(n) __________ __________ file is one in which each data item can be read or written independently of the rest.
ANS:
direct access
12.
Sec. 9.4     The __________ function returns the number of bytes (characters) in a direct-access file. 

ANS:  LOF (or length-of-file)
13.
Sec. 9.5     To simplify retrieval of data stored in a direct-access file, a(n) __________ file may be used.

ANS:  indexed
14.
Sec. 9.4     To refer to the second field of a record in a direct-access file, we use a variable of the form RecordName.FieldName. This kind of variable is referred to as a(n)__________ variable.

ANS:  field
15.
Sec. 9.4     In a sequential file, records are separated from each other by carriage return symbols (<CR>), but in a direct-access file, the corresponding fields in all records must be of the same __________. 

ANS:  length
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